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Note : This paper is of forty (40) marks containing three
(03) Sections A, B and C. Learners are required to
attempt the questions contained in these Sections
according to the detailed instructions given therein.
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Section-A / Gvs—h

(Long Answer Type Questions) / (€78 IR T2
Note : Section ‘A’ contains four (04) long answer type
questions of nine and half (9%) marks each.

Learners are required to answer two (02) questions
only.
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A @rs P H AR (04) <Y IWE wE ¥ MR

1.

W W B fov W Al (95) 3F FEiRd €
iRl &1 ST F ®ad &1 (02) Tl & ST o
g |
(a) Starting from malonic ester, how would you
prepare the following compounds : 6
(i)  n-Butyric acid
(i)  Glutaric acid
(ili)  Succinic acid
Hellfd TRex F YR 9 39 frferRad At
P Y FAR ?
(i) n-FeERE o
(i) To[CR® 3t
(i) FRIS 3
(b) Give synthesis and uses of Indigo and Malchite
green. 3%

3OS 3R Werarse W9 & WIAWOT g SUINT
QT |

Explain any three of the following :
(i) Applications of NMR spectroscopy

(i) Furan is more reactive than benzene in
electrophilic substitution.

(i) Knorr-pyrrole synthesis
(iv) Solid-phase peptide synthesis
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fforRaa # ¥ fobegl I W feworl forRe
() T TH. IR WaeRDMU B YA
(ii) Soldg el ey affbarert & wRM, I
3 T Ay B B |
(iii) IR-URTA FIeIvor
(iv) SfeTe-B9 Tergs |y
Write short notes on any three of the following :
(i) Detergents
(it) Ruff degradation method
(iif) Saponification value
(iv) lodine value
ffeiRaa # ¥ fobegl o W e fewfoRit foffRay -
() fecworen
(i) % fr=iipRor fafer
(i) TgIEHROT A
(iv) SASH AH

(@) Discuss the cyclic structures of monosacchrides.5
AAIARISSE & A AN BT U DI |
(b) Discuss molecular orbital theory for colour and

chemical constitution. 4%

W g IRAe WEET & foll afddd deld
Rigrd @l fddamT dIfou |
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Section-B / Yrs—Yg
(Short Answer Type Questions) / (e ITRII Je)

Note : Section ‘B’ contains eight (08) short answer type

e

questions of four (04) marks each. Learners are
required to answer four (04) questions only.

Qe ‘@ ¥ s (08) oY ST W ¥ W F
TRAG T b fov IR (04) o feiRa €|
ey &1 39 W dad IR (04) WA B SR oA
2|

What is the significance of spin-spin coupling in NMR
spectroscopy ?

NMR WagRa M # Raa-Rae I o &1 781 & ?

Differentiate between detergents and soaps.
f$evoied @ |l ¥ 3R DI |

Pyridine is less basic than aliphatic amine but more
basic than pyrrole. Explain.

RIS, Teihfed THM ¥ &8 7 fIRTd § SmeT eNe
¢ | TSy |

Write a note on Epimer.

TR W v fewll foriay |

Write the synthesis of polyethylene.

Ueiigeiiel™ @l |eeryor fafyy forfag |

Write the synthesis and applications of Butyl rubber.

CIgd TR & HIEIWU U4 SYART l foIRay |
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7. Why are organolithium compounds more reactive than

Grignard reagent ?

Jriferem Aiffte e afede 9 e Afhy
Rl Bl & ?
Why is Sucrose known as Invert Sugar ?

PG B §9C R T Bel ol § ?

Section—-C / us—T[
(Objective Type Questions) / (A& )

Note : Section ‘C’ contains ten (10) objective type

questions of half () mark each. All the questions

of this Section are compulsory.

g T H g9 (10) TS WA [ W 2| IS
ye & fou ofen (1) 3id iR &1 g9 @ve &
4l 7T S € |

Choose the correct answer.

el IR g |

1.

Number of *H -NMR signals in benzaldehyde will be :
(@) 4

(b) 3
© 5
(d) 6
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TTASIEES ¥ 11 -NMR Riied @f \wm g
(@) 4
@ 3
(|) 5
()

The number of asymmetric carbon atoms in
Aldohexose molecule is :

@ 3

(b) 4

(© 2

d 1

TeIRaIaT & Y] ¥ SRR FIe WA B HR
Bl 8 ?

@) 3

@ 4

(|) 2

()
Which of the following is not a condensation polymer ?
(@ Nylon-6, 6

(b) Teflon

(c) Polythene

(d) Polyamide

frfoaRad # 9 319 Te HaT 9gaTd T © 2

(31) Tgeli-6, 6

—_
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(@ <we
(|) dfeflel=
(@) drcloarss

. The hetroatom present in furan is :

(@ Oxygen

(b) Nitrogen

(c) Sulphur

(d) Flourine

TR § SR SIgT TRAT] H TH § -
(31) it

(@) g

(|) wewx

(8) wARM

. Which of the following is a basic amino acid :

(@ Glycine

(b) Serine

(c) Lysine

(d) \Valine

ffeTiad @ Ue &R 3MHl 3 & 7
(81) TofTgRiA

)
)
)

=)

(

Y
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Choose True/False from question 6-10.

W6—1OWW/3W§§|Q|

6. Glycosides are stable in basic solution.  (True/False)

TAEHNES TR faee H ¥ 8 2| (9 /31a)

7. In pyrrole, nitrogen atom is in a state of sp

hybridisation. (True/False)

OISRl H ATSEIOM WA sp® HARU @] Il H

Bre (6 / 3rerc)

8. Prefix ‘D’ is given to fructose even though it is

Laevorotatory. (True/False)

BN qrad] gau e §, R o g AW @ gd

T ‘D’ RN ST 8 | (A / 39)

9. Methyl orange is an Azine dye. (True/False)

fRoTgel NSl T TollF ©1% & | (6 / 3r7c)

10. Ethyl amine is more basic than aniline.  (True/False)
SATZE 3, TRl ¥ SATRT R Bl & |

(Fa / 3rca)

S—665 340

A-49



